EDGE CUTTING BLADE RECEIVER INSTRUCTION MANUAL

[1] Before Using

This product “Edge Cutting Blade Receiver “ can be used with combining with “Wall Cutter CDW-40AE
“or “Hydraulic Wall Cutter CHW-50A “ which makes the cutting of corner edge possible. Read carefully
this instruction manual and instruction manual of “Wall Cutter CDW-40AE “ or “Hydraulic Wall Cutter
CHW-50A “, follow “WARNING and CAUTION “ and use correctly.

[2] Packing Contents

2
2

Edge Cutting Blade Hex. Bolt M16 X 55 Flat Washer 16 Spring Washer 16 Flat Head Bolt M8 X 30
Receiver ---1pcs ==+ 1pcs == 1Ipcs -+ Bpcs
-+ 1pcs

Flat Washer 8 Spring Washer 8 Hex. Nut M8
-+ Bpcs -+ Bpcs -+ Bpcs

[3] WARNING and CAUTION

A WARNING

1. It is extremely dangerous to cut only by applying main body cover of blade cover due to opening the one—side.

Do not use other cutting expect cutting the corner edge such as against the wall.

2. Take the safety measures such as setting the protection board in order to avoid the danger to the surround-
ing area by attaching sponge cushion of main cover of standard blade cover to the wall surface which prevent
from flying the cutting water, injuring caused by breaking of rotating the diamond blade and being caught in the

machine.

/\ CAUTION

This product is the option for only “Wall Cutter CDW-40AE “ or “Hydraulic Wall Cutter CHW-50A “. Do not

use other wall cutters.




[4] Installation

O Ratchet Wrench 24mm O Hex. Bar Wrench 3mm or 4mm

O Spanner 13mm O Phillips Screwdriver

1) Remove the existing blade receiver and hex. screw
M6 X 8 or M8 X 8 by applying hex. bar wrench.

2) Install O-ring P-42 or S-46 and Edge Cutting Blade

Receiver to the main shaft of wall cutter.

/\ CAUTION

Install O-ring P-42 or S—46 to prevent from leaking

the water.

3) Fix CDW Double Line Cut Noiseless Blade by installing

flat head bolt, spring washer, flat washer and hex. nut.

/\ CAUTION

Remove the front cover of blade cover.

If the front cover of blade cover is not removed, it will
be in contacted with CDW Double Line Cut Noiseless
Blade.

[5]) The position of Anchor Installation

1) Install anchor at the position of 167mm from the cut

line.

2) Adjust the setting position of track rail by applying
the scale to the side of track rail at the position of

124 mm from the cut line.

Main Shaft

Edge Cutting Blade Receiver P-42 or S-46

Main Body Cover

of Blade Cover

167

£

CONSES> CONSEC CORPORATION  E0920-2




